
Litho Box BOM 

Quantity Part 
 

2’ x 4’ x ¾” Good quality Plywood 

1 1 – 3/16” Screw Vice 

2 1 – 3/16” bearing block 

2 Toggle Latch Clamp 

1 – 1/2” x 12” Continuous hinge 
4 ¼” – 20 T nuts 

4 1/4” – 20 x 1-1/4” machine screw 
3.75” 1” (Inner Diameter) PVC Pipe 

A lot Wood screws or dowels for assembly 

1 Black pipe ¾” cap 

1 Black pipe nipple ¾” x 3” 

1 Black pipe nipple ½” x 12” 

1 Black pipe 90 degree elbow ½” 

1 Black pipe nipple ½” x 4” 

1 Black pipe cap ½” 

 Polyurethane 

1 Kayak Handle (optional) 

varies Leather for scraper bar 

4 #10 x 1” wood screw for scraper bar 

 Duralar for Tympan 

 Lubricating Grease for tympan 

 

 Equipment 

 Drill 

 1-1/2” Hole saw bit 

 Table Saw 

 


